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Calculus with Analytic Geometry
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Show your work! No calculators! Please draw a around your answers!
Please do not write on your desk!

1. (8 pts.) Use linear approximation, i.e. the tangent line, to approximate /28.
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2. (4 x 2 = 8 pts.) Suppose the region on the left in the figure has area 38, and the region

LLlaay= By = 2
p

H Ry %
(xi= =<

on the right has area 4. Using the graph of f(x) in the figure, find the following integrals.
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3. (8 pts.) Find the minimum distance of the par: hola z = 4 {: the point (5, 2).
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4. (8 + 8+ 2 == 18 pts.) Consider the following table. ad A U
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® Use this data and a)ef?endpomt Riemann sum to estimate the integral
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® qu this data and a left endpoint Riemann sum to estimate the integral
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e Use the above to estimate the integral by taking the average.
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5. (Bonus)(4 pts.) The function f(z) = 2% passes from the points (—1,1) and (1,1), and

has the derivative f'(x) = . But, clearly, f'(z) = 0 does not have a solution.
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Is this a confradiction to the Mean Value Theorem?

Briefly explain.
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